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Q.1

Attempt ALL questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
English version is authentic.

Fill in the blanks using appropriate choice from the given options.
1  If the mid point of line segment AB is (1,1) , and B (4,3) then the coordinate
of A =-------—--

@ 21) () (-2-1) (c)(-21) (d) (2-1)
2  The slope of st.line perpendicular to the st.line 5x—7y+3=0 is -------
5 7 -7 7
(a) 7 (b) 5 (c) 3 (d) 3

3  The angle between the st.lines x+y=0and x—y=0 is -------
(@) 60°  (b) 30° (c) 0° (d) 90°

4 If the radius of the circle x%+y®> —4x—8y+k =0 is ¥19 then Kk =------
(@ -41 (b) 1 (c) 4 (d) 12

5 If f(x)=log(e") then f(~1) =
@0 (0 1 (c)-1 (d)e

0 Lim [x]ﬁ

X—1

@1 (e (0 (d)%
,

i(33in X —4sin® X) =--------
dx

(a) -cos3x  (b) 3cos3x (c) 3cosx —4cos®x  (d) sin 3x
8 If f(x)=logvx2+1 then f'(Q)=-----
@2 (M1 (0 (@2

d “logxy _ ___

P

@ iz ® =2 © L @ _—21
X X X X

10 2
If y=xlogx then M: ________

(@ 1+logx (b)

11 J'exlogadx o

I
~
()
~—

logle+x) (d) _71

(@ e (b) a* (¢ (d) loga

2 .1 1
_[e (;—?)dx: -----------
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Q.2

Q3

Q4

13

14

(@)

(b)
1.

()

(b)
1.

(b)

X

@S % @ @

The mean value of first eight natural numbers is = ---------

(a) % (b) 36 () 72 (d) 16

The relatign between Mean, Mediem and Mode_is ------------ B

(@) Z=2X-3M (b) Z=3M —2X (€)Z-2X =3M (d)Z+3M +2X =0

Attempt any two 06
State the nature of triangle whose vertices are (a,a),(—a,—a) and (—\/§a, \/§a)

If the point P(a,b) lies on the line 6x—y =1 and the point Q(b,a) lies on the

line 2x—5y =5 . Find the equation of the line passing through the points P

and Q.
Find the equation of tangent and normal to the circle x* +y* -2y -7 =0at
(2,3).
Attempt any two 08
If ()= and t=>">% then prove that x = f (t)
4X -5 4x -1
- xv/X = 24/2
Evaluate : lim —————
X—2 X—2
Evaluate : lim w
N 9 _ -
) 4
Attempt any two 06

Differentiate f (x) = cos® xwith respect to x by using the definition of
derivative .

If y:Iog%eraH} then prove that vx*+a y =2.
x* +a’ —x

If x=acos*@ and y =bsin*@ then prove that —= dy by =0

x ax
Attempt any two 08

2 2
If x=at®and y =2at then prove that yd—Z +(ﬂj =0
dx dx

If logy=x*logx then find j_y .
X

Find tha maimum or minimum value of f(x) = xlog, x

Attempt any two 06
Integrate : j x* tan® (x*)sec? (x*)dx

J' e*(1+x) dx

Integrate :
J sin®(xe*)

Integrate : _[sin5xsin6xdx
Attempt any two 08
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1. z
) o
Evaluate : J'de
5 1+sin xcos x
2. -3 X
Evaluate : | ——dx
L T+X
3. Find the volume of a sphere of radius r by method of integration.
Q5 (a) Attemptany two 06
1. For which real values of x ,the points A(0,0) , B(0,1) and C(x,1) are the
vertices of the right angle triangle ABC.
2 If 1+1 :% then prove that the st.lin passing through the points
u v
(u,0),(0,v) is also passing through the point (f, f).
3 If f(x):iJr—X then prove that xf (f(x))+1=0
—X
(b) Attempt any two 08
1. If the mean of the following frequency distribution is 26 , then find the
missing frequency.
Class 0-9 |10-19 [20—-29 |30—39 |40 - 49 | Total
Frequency 6 ? 17 ? 8 60
2. Find the standard deviation for the following data
120 , 132,148,136, 142,140, 165, 153.
3. Find the Mean , Median and Mode for following data
Class 15-20 | 20-25 | 25-30 | 30-35 | 35-40 | 40-45
Frequenc 3 8 10 19 25 21
y
Class 45-50 | 50-55 | 55-60
Frequenc 6 5 3
y
Al Aojalle
YUt
1 €35 Uslloll Grir UL,
2 %l %33l 8lal A A YRR $3A.
3 Rl cllagell uissl AYLL oL Yud 8.
4 R desyAer GuAlal uRclleldl B. (dstls / G wigRlsll uRdletoll «iell)
5 ¥JY UNIAR HAOed BUUR 8.
Y.1 202t [Ascu urie 531 wiell woul YR, 14

1 o uluis AB of HEGE (1,1) A B (4,3) &l Al A oll A =-nmmemmaee
@ (21) (b) (-2-1) (c)(-21) (d) (2-1)
2 YU5x-T7y+3=0 o Aol YRUloll LA ------ 0.
5 7 -7 7
(a) 7 (b) 5 (c) 5 (d) 3
3 YU x+y=0 Aol x—y=0cRAsll YRl -----m- 8.

(@) 60°  (b) 30° (c) 0° (d) 90°
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u.2

10

11

12

13

14

()

ol cAdo X2 +y? —4x -8y +k =0 ofl AUl V19 8lad AU K =------
(@ -41 (b) 1 (c) 4 (d) 12

®l f(x)=loge*) &l Al f(-1) =

@0 (1 (c)-1 de

Lim [x]ﬁ

Xx—1

@1 (e ()0 (d)%

%(38”] X —4sin® X) =--------

(a) -cos 3x  (b) 3cos3x (c) 3cos x —4cos °x  (d) sin 3x

A f(x)=logVx>+1 8A A f'(0) =------

@2 M1 (0 (2

i(e—bg)(): _________

dx

@5 ® = O @ =
X X X

® y=xlogx & Al %: ........

(a) 1+logx  (b) % © logle+x) (d) ‘71

Iexlogadxz ________
@ e () & (© - (¢ loga
log
jex(l_iz)dxz ...........
X X

@S L © e @ xe
X X

YU s Ulglds Avaloll HeAs ----m--m- .
@) % ()36 () 72 (d) 16

HERLS , HERRY Aol HEAS A ol g2l YA ---mmmmmev .
(@) Z=2X-3M (b) Z=3M —-2X (€)Z-2X =3M (d)Z+3M +2X =0
ol A & 2wl 06

(a,a),(-a,—a) ¥ (—/3a,+/3a) QRUg3Ncon A8l YsiR «tssl 5A
% (Ag P(ab) A YUl 6x—y=1GUR Wal (Ag Q(ba) A
YW 2x -5y =5 GUR wldd 8l cl [Agall P ual Q Hiell uR adl
Yulle] AHls0L .

ddax?+y?—2y-7=0 GURall (0lg (2,3) WAL uLls dal WAdoLell
Als20L k.
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(@)

oA A ol awl
X+3 WAt 3+5x
X—=95 4x-1

cet A lim xx-22

x—2 X—2

s 9= gl Al A 5A ¥ x = f(t)

det AL :  lim SME—cosd

i T
6»2 9_7

4

STR IS ARRITE
f(x)=cos’x af x ol A&t [Ascietoll catvausdl Heeedl [Ascot N

il y=|og%;1:iﬂ Aot A WA 53 3 x2 y _2.

% x=acos*® v y=hsin*g &lal A Alold $A ¥ 3—y+ L
x Vax
o A & awl

2 2
A x=at’ AUl y=2at A A Al 5A 3 y%{%) -0
X X

A logy = x* log x @ucﬂj—y S,
X

f(x) = xlog, x oll HedH MUl ootriH (U WA

oA A o ol
A5l $2A ; jx3tan5(x4)sec2(x4)dx

dsctot 53 ¢ [© (21(+ XX))d
SIn~(xe

AsAad 53 : IsinstinGxdx

o A o 2wl
2
Bt 4l - j COSX — smx
01+smxcosx
(Bud 0 j—dx
7+ X

r Quan :ﬂasq dotg0 Ascol ofl Heedl A

oA A ol awl
x oll 58 clirdlds (BHA 12, (g A(0,0), B(0,1) Aal C(x,1) sl2slQL
Aslgett [@QRAUAg2 vl 2

8\ —+—=% a2l Al AUAA 5 ¥ (Ag: (u,0),(0,v) Hiell AR adl

\Y

Y, @g (f, f) el ugl uaR aa .
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(b)

o f(x)=

1+ X

1-x

o A & awl

ol o{lAoll gl (ARl Heas 26, 8l Al vedl wigld 0

Slal Al WA 5A 3 xf(f(x)+1=0

ol 0-9|10-19 |20-29 | 30-39 | 40 - 49 | Total
ulgld 6 ? 17 ? 8 60
(Aol HIRA HE YOt Quctot N

120 , 132,148,136, 142,140, 165, 153 .
olAoll 2glA (AcRQL HI2 HEals , HRRARU AUl ol§Es L

aol 15-20 | 20-25 | 25-30 | 30-35 | 35-40 | 40-45
wugld | 3 8 10 | 19 | 25 | 21
aol 45-50 | 50-55 | 55-60
wgld | 6 5 3
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